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Seat No.

Gujarat Technological University
Diploma Engineering C to D Bridge Course Examination
Date:8-06-2017

Subject Code: C310702

Subject Name: Fundamental of Digital Electronics

Time: 10.30AM to 12.00PM
Instructions:

Attempt all questions.

Enrolment No.:

Total Marks: 70

1.
2, Make suitable assumption wherever necessary,
3. Each question is of 1 mark.
4, Use of SIMPLE CALCULATOR is permissible. (Scientific/Higher Version not allowed)
5. English version is authentic.
No. | Question Text and Option. Y& el [Aseul.
What is Boolean expression for AND gate?

1. A. | Y=AB B. | Y=A4B
C. | Y=(A+BY D. | Y=A"+B’
AND 382 of ojcllast uls2el 9 wa?

1. A [Y=AB B. [ Y=A+B
C. | Y=(A+BY D. |Y=A+B’
What is the binary number of (25)10 decimal number?

2. | A. | 10010 B. [ 1010
C. | 11001 D. | 10001
SRHA dleR (25),, ol tlatatdl slolRk g wL?

. [A. 10010 B. [1010
C. | 11001 D. | 10001
1KB = bytes

3. A |512 B. | 1000
C. | 1024 D. | 2048
1kb = olLeeA

3. [A [s512 B. [1000
C. | 1024 D. | 2048
(A7)'=

4. |A |0 B. |1
C. |A D | A
(Ay=

¥. |A. |0 B. 1
C. |A D | A
Which gate is known as universal gate?

5. A. | AND B. | NOR
C. |NOT D. | EX-OR
sl B2 o YAadd dAse sdaul wud 82

4. [A. JTAND B. | NOR
C. |NOT D. | EX-OR
Find 9°s complement of 27.

6. A |72 B. |73
C. |27 D. |37

¢ |27 ol 9s sacllile Al
A |72 |B. [73
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c. |27 |D. |37
Give the 1°s complement of (101101),

7. [ A Jo11110 B. [110110
C. [ 010001 D. | 010010
(101101}, oll 1’s sLc{lie .

9. [A. Jo11110 B. [110110
C. [ 010001 D. | 010010
Give the excess-3 code for decimal number (44)19

8. [A. T11 B. |77
C. |66 D. |55
SAlHe ol (44),, oll AsAU-3 5ls Ul

¢ TA T11 B. |77
C. |66 D. |55
In half adder, the Boolean expression for Sum is

9. |[A. [ADB B. |AB
C. | A+B D. | AOB
6ls WS AU (sum) HLze] yellaet AsvY ot

€. |A |[ADB B. | AB
C. | A+B D. | AGB
(A+B)=

10. |[A. [A+B B. | A+B
C. [AB D. | AB
(A+B)'=

0. |A. [A+B B. | A+B
C. [AB D. | AB

Half adder & Full adder is required to develop 4 bit parallel adder.

11. [A. 3.1 B. [22
C. |41 D. |13
4-o{lz Wt As? M2 8ls WS Wl gt ASR ofl w32 ud 8.

1. [A T3.1 B. |22
C. |41 D. |13
AA’:

12. [A. A B. |1
C. [A D.

AA’:

. [A. |A B. |1
C. [A D. [0
ATA=

13. [A [0 B. |1
C. [A D. [A
A+A=

3. [A. |0 B. |1
C. [A D. |[A
(FF)is=( )

14. [ A [11110110 B. | 11001111
C. [ 11111111 D. | 00111100
(FFis=( )2

¥. | A. [ 11110110 B. | 11001111
C. [ 11111111 D. [ 00111100
A (A+B) =

15. |A. [A+B B. |A
C. |AB D. |B
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A (A+B) =

u. |A. [A+B B. |A
C. |[AB D. |B
Convert octal number (35)s into hexadecimal number

16. |A. | 1D B. |2C
C. |IC D. |2D
UlseE olu? (35), ol 85A3Y A Ul wedl.

1S. A T1D B. [2C
C. |IC D. |2D
(1010),4(0011)2 = ( )

17. |A. 1010 B. | 1001
C. | 1111 D. | 1101
(1010),+(0011)2 = ( )

9. | A. [ 1010 B. | 1001
C. | 1111 D. | 1101
Give the binary subtraction of 0-1 is

18. [A. [ D=0,B=0 B. | D=1, B=I
C. | D=0,B=1 D. |D=1,B=0
wLetd] olteatsl 53L: 0-1

1¢. A [D=0,B=0 B. |D=1,B=1
C. | D=0,B=1 D. |D=1,B=0
Give the decimal value of binary (11011)>

19. [A. [25 B. |28
C. |27 D. |26
wlatdl el (11011), A SRAHA olet? Ml Hecl.

€. A 25 B. [28
C. |27 D. |26
How many output lines are there for decoder having 4 inputs?

20. [A. |2 B. |4
C. |8 D. |16
SlslsR Ml Botye cldol 4 glat dl Beye cudet secll sla 82

RO. A T2 B. |4
C. |8 D. |16
Which of the following symbol is used for NOT gate?

21 | A | B. | )
C. | D. |-
o{lAotl Higll 52 Yl NOT 2 M2 cuR( B2

RL. AL | > B. |
C. |[d> D. | >
Which is invalid BCD code?

22. [A. Jo011 B. | 1100
C. |o111 D. | 0101
o{lAetl Higll 52l sls BCD olell?

R2. A, Jo0il B. [ 1100
C. |o111 D. |o0101

Selection lines are there for 4 inputs multiplexer.

23. [A. ]0O B. |1
C. |2 D. |3

3. | 4 Botye HEAsuR Ui {lAsuet clsotoll vl el 8,

http://www.gujaratstudy.com

3/10




http://www.gujaratstudy.com

A o B. |1
C. [2 D. |3
A(AB) =
24. [A. [ AB B. [AB
C. [A+B D. [AB
A(ATB) =
R¥. |A. [AB B. |AB
C. [A+B D. [AB
Which gate having output 1, when any one input is 1?
25. |A. [AND B. [NOR
C. [OR D. |NOT
® A2 HL S8 Ul As Boty2 1 slaL dl qwGay2 1 L d e saul?
L. A TAND B. [NOR
C. [OR D. |NOT
What is the output of EX-OR gate, when A=1 & B=0?
26. [A.]0 B. |1
C. [A D. [B
EX-OR 3182 Hl A=1,B=06&la dl auGeye g wa?
?s. A Jo B. |1
C. [A D. |B
How many outputs are there into N input multiplexer?
27. [A. 1 B. [N
C. |0 D. |2V
N 8eiye HEElAsAuML ecll uBaye sl 82
3. [A. 1 B. [N
C. |0 D. |2V
(1101)-(0011)2 = ( )2
28. |A. [1010 B. | 1100
C. [otio D. [1110
(1101»-(0011)2 = ( )2
¢. |A. [1010 B. [1100
C. [otio0 D. [1110
A+AB =
29. [A. [0 B. [A
C. [B D. |1
A+AB =
e. [A [0 B. [A
C. [B D. |1
gate has 1 input and 1 output.
30. [A. [AND B. [NOR
C. [OR D. |NOT
AB2HL A5 Solye ual s Baye sl B.
30. TA. TAND B. |NOR
C. [OR D. |NOT
Which method is systematic to make Boolean expression easier?
31. | A. | Karnaugh map B. | Boolean expression
C. | De Morgan’s law D. | Tabular method
ocllatet AsuYalot UM wollalel HZoll 58 Il fleddls B2
3. |4 | stelle Ay B. | gellatst Asu et
C. | §lA3tet @l D. | 3oyt Aus
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How many numbers of cells in to 4 variable k-map?
32. [A |2 B. |4
C. |8 D. |16
4 A3 Ao k-Au HL At ofl dven 32l slar
3.[A. (2 B. |4
C. [8 D. |16
Which number system includes the number ACF?
33. | A. | Binary B. | Octal
C. | Hexadecimal D. | Decimal
58 olol? HlreHul ACF oll wHdaL w82
33. | A | cetdl B A2
C. | dsoddlluct D. | 3:lluc
Which of the following expression is the SOP form?
34. [A. [AB+AB’C B. | ABCTAB'C’
C. | (A+B+C)YA+BY) D. | (A+B+C)YA+B ~C")
o{lActtiitell 58 24 wlos§ sop sl wL B2
3¥%. [A. [AB+ABC B. | ABC+AB'C’
. | (ATB+CYA+B) D. | (A+B+C)YA+B ~C")
Which of the following is basic gate?
35. [ A. [ EXOR-EXNOR-NOT B. | AND-NOR-NOT
C. | NAND-NOR-NOT D. | AND-OR-NOT
o{lA galldd Higll sal dAls e &2
3U. 'A. TEXOR-EXNOR-NOT B. | AND-NOR-NOT
C. | NAND-NOR-NOT D. | AND-OR-NOT
Comparator having outputs.
36. A |1 B. |2
C. |3 D. |4
5132 Ml ABaye sl B.
3s. A, [1 B. |2
C. |3 D. |4
Which decoder is known as binary to octal decoder?
37. |A. |4tolé B. |2to4
C. |3to8 D. | None of above
sl Slsls2el suaatdl g ulseet Slsls? 58 82
39. [A. [4t016 B. [2to4d
C. |3to8 D. | aguigll As ugl o8l
Full adder having input & outputs.
38. [A. [22 B. [3.2
C. |21 D. |23
gt WS ____ setyz wadl ___ uBaye s d.
3¢. [A. [22 B. [32
C. |21 D. |23
Each product term of standard SOP form is known as
39. | A. | Minterm B. Maxterm
C. | Sumterm D. | A & B both
wlots$ sor slilell €35 ylsse 2:al g s& B2
3¢.
A |l B. | Asyei
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C. | uued D. | Aual Bolal
Give the 2°s complement of (1010);.
40. [A. ]1010 B. [1001
C. 0110 D. [0101
(1010), oll 2’s sl e Ll
¥0. ['A 11010 B. |[1001
C. [0110 D. [0101
A+A+A=
41. [A. JA B. [2A
C. [3A D. |1
A+A+A=
¥ A [A B. [2A
C. [3A D. |1
Which gate having output O, when any one input is 1?
42. [A. JOR B. [NOR
C. [AND D. |[NAND
% e HL 518 URL As Betye 1 sl ol 2UB2ye 0 Ul d Ase saA?
¥2. [A. [OR B. [NOR
C. [AND D. |NAND
Simplify the expression F (A, B) =}’ (mo, m3) using k-map.
43. [A. [A’B+AB B. [ A’B+AB’
C. |AtA’B D. | AB+A’B
F (A, B) =Y (mo, ms) of k-AU ad ue(lsi@l g ad?
¥3. A JA'B+AB B. | A’'BIAB’
C. [A+A’B D. | AB+A’B
In 3 to 8 decoder, if input ABC = 101 than output is line from Doto D7,
4. [A | D2 B. | D4
C. | Ds D. | Ds
3 g 8 Slsls?ui %l Belye ABC=101 &la, dl D, ¢l D, uisll AlBel A5
¥y |1 UR dl.
A |D: B. |Ds
C. | Ds D. | Ds
What is the output of 3 input OR gate, when A=0, B=1 & C=0?
45. [A. |0 B. |1
C. [101 D. [010
3 Bely2 OR AB2 HL A=0, B=1,C=0 &lal l wUBaye g wa?
LA N B. |1
c. [101 D. [010
Selection lines are there into 4x16 decoder.
46. |A. |1 B. [2
C. |3 D. | None of above
4x16 Sl5ls? Ui AlAsUst clsate(l vl el 8.
¥S6. [A. |1 B. [2
C |3 D auiel As ual otdl.
Variables are eliminated using Quad into the K-map.
47. A |0 B. |1
C. |2 D. |3
v, | K-map MU sclls ol _ddldud Acdl{lae wa 8
" [A TJo [B. |1
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C. |2 |D. |3

How many inputs are there into demultiplexer?
48. [A. [0 B. |1

C. |2 D.

Sucdh@surul decl Botye sla 82
¥C. A J2m B. |1

C. |2 D. |4

16 Bits = Bytes.
49. [A T1 B. |2

c. |3 D. |4

16 o{led = AL
€. A T1 B. |2

c. |3 D. |4

In half Subtractor, the Boolean expression for Difference is
50. |A. [AB B. | A+B

C. [AB+A’B D. | ABTA’B’

6ls A6LE5eR of Slsa (Difference) HI2a] ojcllalot BseY et )
0. A  TAB B. | A+B

C. [AB+A’B D. | ABTA’B’

is required to develop full Subtractor.
51 A. | One half Subtractor B. | Two half Subtractor & OR gate
" | C. | Two half Subtractor & AND D. | Two half Subtractor
gate

S UUZISR Glollaal ML ofl %32 U3 B.

A | s sly ULLESER B. | @ &ly uuigse? Al OR ABe
ua.

C. | & 6ls ueP52R Wl AND D. 1@ sly duse?

e

Simplify the expression I (A, B, C) = ) (mj, m3, ms, m7) using k-map.
52. [A. ]C B. | ABrAC’

C. | A’C+AC D. | B’C+BC

F (A, B, C) =Y (mi, m3, ms, my) of 3-0U o ARellswl g e
WR.JTa JcC B. [ AB+AC’

C. | A’C+AC D. |B’C+BC

In Boolean algebra, expression AB = BA shows property.
53. | A. | Cumutative B. | Associative

C. | Absorption D. | Distributive

ojc{laiet Apuil AB = BA Yludl eqlld 8.

uz. | A | syiRéla B. | falk{ladla

C. | Aol wlet D. | Slafloydla

(A’B+AB’) =
54. [A. J1 B. [0

C. | AB+A’B’ D. | None of above

(A’B+AB’) =
wy. [A |1 B. |0

C. | AB+A’B’ D. | None of above

In encoder numbers of output lines are number of input lines.
55. | A. | Equal to B. | Greater than

C. | Less than D. | None of above

http://www.gujaratstudy.com

7/10




http://www.gujaratstudy.com

Wosls? Ui B2y cldolofl Aual Boly2 LBl 5cll sla 8.
w, [ Ayl B. | qu2
C. |l D. | Guanigll As el 8l
What is the full form of BCD?
56. | A. | Bit Coded Decimal B. | Binary Coded Digit
C. | Binary Conversion Decimal D. | Binary Coded Decimal
BCD o] Y3 ol g 8?
us. [A | olle 513s 3lue B. | slaetdl s13s $lwe
C. | atotdl soctroset 3{luet wtaetdl sl3s 3lua
Application of decoder is
57. | A. | Analog to digital convertor B. | Digital to analog convertor
C. | Parellel to serial convertor D. | None of the above
(3sls? «ll Guallol 33 Al 8.
wo. | A | Aol ¢ Byed soare: | B | Bwed g Aslclal socdreR
C. | Vddc ¢ ARad so2e? GuHiadl As uwl él.
What is the full form of LSB?
58. | A. | Least significant bit B. | Least significant byte
C. | Large significant bit D. | Last significant bit
LSB of Y3 olld g &?
we. | A | dlze dxlBs2 olle B. | llze fl> (352 ouse
C | a fl(lBse olle D. | dre dl(l352 ofle
In demnltiplexer, output lines are input lines
59. | A. | Eqgual to B. | Greater than
C. | Less than D. | None of above
Slucdl@suR i uBeye cldetoll duall Soye cldel scll sla .
e, | A [l B. | au?
C. | 20l D. | Guaniedl As uel o8l
(101), x (11),= ( ),
60. | A | 1111 B. 11011
C. 11010 1101
(101), x (11),= ( ),
so. [ A 1111 B. 1011
C. 11010 D. | 1101
Give the hexadecimal number of binary number (10010111),
61. |A. |97 B. | A6
C. [A7 D. |96
oot dl ool (10010111), oL 3533 Het 1L el
1. [A [o7 B. | A6
C. [A7 D. |96
Which of the following expression is the POS form?
62. |A. | A’BtABC’ B. | (A+tB+C)YA+B’+C)
C. | A+BC D. | (A+B)(A+C)
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o{lAstiell 56 24 2ls$ POS ML B2
S2. A, JA'BrABC’ B. [(ATBIC)A+B+C")
C. | A+BC D. | (A+B)}A+C)
Give the 10°s complement of 45.
63. [A. |55 B. [53
C. [56 D. |54
45 oll 10's sledlile 2,
$3. [A. [55 B. [53
C. [56 D. |54
In 4 input multiplexer, if selection line S1So= 10 then output =
64. |A. [ Dy B. D
C. | D D. Da
4 8otye HEIAsUR UL %l A5l AlBel Si1So=10 &l dl BeYye=
S¥. [A. [ Do B. | Dy
C. |D: D. |Ds
2 bit magnitude comparator has inputs & outputs
65. |A. [12 B. |34
C. [23 D. |43
2 ofle 5122 WL Sy & wlBeye sl B.
sW. A T12 B. [34
C. [23 D. |43
In half adder, carry=
66. |A. | AB B. [ AR’
C. |[AB D. | A’B+AR’
olg s WL 3dl=
$S. [A. | A B. |AB’
C. [AB D. | A’B+tAB’
Each sum term of standard POS form is known as
67. | A. | Minterm B. | Maxterm
C. | Sumterm D. | A & Bboth
wletsS Pos sldoll €35 un 2ulal g 53 B2
s9. | A | leted] B. | Asued
C. | amed D. | Aud B ud
Which gate is used to realize the condition A = B in one 1 magnitude comparator?
68. |A. | AND B. |[OR
C. |EX-OR D. | EX-NOR
1 olle NAoolleys 512Ul A =B Soslalel Hoclal M2 SlSeell Bruallol
G, | sRAUHL A B?
A. [ AND B. [OR
C. |EX-OR D. | EX-NOR
How many basic logic gates are used to develop Y = AB + CD
69. [A. |1 B. [2
Cc. |3 D. |4
Y= AB + CD ol tlellelcll 32l ds e 33l B?
s¢. [A 1 B. [2
E D. |4
70 Which device has input-output lines and also selection lines?
" | A. | Comparator | B. | Demultiplexer
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J0.

C. | Decoder | D. | Encoder

sl Slasuil Saye — wUBleye Alsel QuRid AlAsuel clset sla &9
Al slReR B. | flucdlhdsuR

C. | Bsls? D. | fosls?

o o ok oK oK ok ok oK sk skekok R
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